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-Derive the équation‘ optimum work out put in impulse turbine.

The reaction turbine runs at 300 rpm and the steam consimption is 20000 kg/h. The

+ - pressure of steam at a certain pair is 2 bar, its dryness fraction is 0.93 ‘and the power

. developed by the pair is 50 k'W. The discharge blade angle is 20" forboth the fixedand ..
72 timeb the blade velocity. Findthe o

orjet, .. e
v) Net power output of the plant -~ =~ =
) Thrust specific fuel consumption, . =
vi) Air-fuel ratio. S
xplain the nuclear propellant rocketindetail. - S
The jet velocity from a rocket engine is 3000 m/s :
ropellant. consumption is 80 kg/s. Ca
Heiency. .




